1 Create two words using the following ten letters each
once only.

Clue: grand tune (4, 6)

cl
MYSEVODLTA Vast melody

2 Which is the odd one out?
ISTHMUS, FJORD, ATOLL, POLDER, ARCHIPELAGO

3 What number should replace the question mark?

%:5@ 3X6=q3 ? = o

4 CARTON, ENJOYMEN], WORDSMITH
Which of the following words continues the above
sequence?

COPY, REEF, COPE, REST, ACHE one twe +Haree
VN




4 Test YourlQ

5 Comparison

WIS
RITINIRE

6 What word in brackets means the same as the word in
capitals?

as

FORTE (endowment, conduct, talent, redoubt, style)
NN

7 What number comes next in this sequence?

25,32, 27, S%—j—v 30-3-6 =

e

25+ &+9 2F + Atk
3 ~-3-
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Place two letters in each bracket so that these finish the
word on the left and start the word on the right. The
letters in the brackets, read downwards in pairs, will spell

out a six-letter word. M DQ\ fj—fz

Clue: blue-pencil

FA (d2) SK
HO ( .{ Q_) AN s:yﬁsmnce travelled = 60 miles each way

( e’) therefore journey out = 0 _ 1.5 hours

40

. . _ 60 _
journeyin = = 1 hour

120 mile journey = 122;) = 48 mph

A car travels at a speed of 40 mph over a certain distance
and then returns over the same distance at a speed of
60 mph. What is the average speed for the total journey? 4% “’\Ph

Spiral clockwise round the perimeter to spell out a nine-
letter word, which must finish in the centre square. The
word commences at one of the corner squares. You must
provide the missing letters.

ULV RD > aburdancs

>
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11 MEANDER: WIND
TRAVERSE: a) stampede
b) forward
@ across

d) retrace

e) towards

13 Comparison

o _k

is to:

as

» K
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14 The following is an anti-magic square, where none of the
horizontal, vertical or corner-to-corner lines totals 34. It is
possible, however, by moving the position of just four of
the numbers to convert this into a true magic square,
where each horizontal, vertical and corner-to-corner line
adds up to 34.

Can you make the necessary corrections?

a4 |14 |15 | 1
9 |16 | 6 | 12 SN RN
5 11110 | 15 51110} 8
62313

15 What do the following words have in common?

Gum Ash Fir oak
LEGUMES, QUASHED, AFFIRMS, CLOAKED

‘H/wg all Contnin Hee names -

16 What number should replace the question mark?

926 : 24
799 : 72
956 :? 5l

XS +6 = 5]
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17 Solve the three anagrams to complete a quotation by

Confucius.
Clue: Save something for a rainy day.

WHEN P..P..... C...,..N..
Asoppy TRIERA  ADEMON cooTsA

..E A.. .. IT. a‘r\SUUQYJ
* FOUL ALES * L,&) 17 When prosperity comes, do not use all of it.

19 What number should replace the question mark?

7~ 1014
S-1 45
3+

10

Y- pot% 10

20 What well-known proverb is opposite in meaning to the

one below?

Beware of Greeks bearing gifts.
answey-

Never look a gift horse in the mouth.
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21 Which word means the same as ANCHORITE?

@ recluse

b) hieroglyphics
¢) trammel

d) lackey

22 What is the value of x?

64-12X2+6+3=x («1&

23 Fill in the blanks, clockwise or anti-clockwise, to form two
words that are synonyms.

24 What is JULIENNE?

a) reed bunting

b) an evergreen shrub
c) asleeveless jacket
@ clearsoup

e) askull-cap
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25 Grid

Each of the nine squares in the grid marked 1A to 3C
should incorporate all the lines and symbols that are
shown in the squares of the same letter and number imme-
diately above and to the left. For example, 2B should
incorporate all the lines and symbols that are in 2 and B.

One of the squares is incorrect. Which one is it?

3

B

N

B 2C

©
e e

B

&
g
il
e
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26 Solve the one-word anagram.

APE COLT Po leCat
27 Insert a word that means the same as the words outside
the brackets.

COOK (Gi\l) CROSS EXAMINE

28 What number should replace the question mark?

\V/ 1
LAY
Ao
ol

29 Make a six-letter word using only these four letters:

@1
LA
A%

RE
. feeley
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30 Circles

Which of A, B, C, D or E fits into the blank circle to carry
on a logical sequence?

A el

et €39 @)
-—A\a
.

31 Which two words mean the opposite?

DOLOROUS, CONVENE, DISPARAGE, OFFEND, PRAISE,

TREMBLE v v
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32 What is the name given to a group of ROOKS?

a4) murmuration
b) park

® building

d) set

e) business

33 Replace the dots with a word to make five new words.

PEN
AGE

m
(P?) SON
NED
ASK

34 What number should replace the x ?

5 .1_ o
6 7

5
5§, = 22> 5.93
c ©

13
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35 Hexagon

Which hexagon, A, B, C, D or E, fits the missing space?
Blind

508
I
NS

@
B@
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36 Place three two-letter bits together to make a CURRENCY.
DO-RO-LI-ES-EK-SH-UB-CU-AL

Escudo
37 What is always associated with a BINNACLE?
a) ajib
b) a life raft
c) alimpet
d) a mast
® acompass

38 Fill in the blanks, clockwise or anti-clockwise, to
complete the word.

Fh'gi dly

39 What number should replace the question mark ?

?—X%‘% 7 | 8|8 |48

1M 5| 7 |48

@X\(S\_Fj 6 12| 5

B
—
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40 Symbols

Each line and symbol that appears in the four outer circles,
above, is transferred to the centre circle according to these
rules:

if a line or symbol occurs in the outer circles:

once: it is transferred

twice: it is possibly transferred
3 times: it is transferred

4 times: it is not transferred.

Which of the circles A, B, C, D or E, shown below, should
appear at the centre of the diagram, above?

PO

ENEN

D E



